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1. If the side of a square is 19.00 cm, the perimeter of the square =
(B C

A B

(i) 81.00 cm (ii) 76.00 cm (iii)) 79.00 cm (iv) 73.00cm (v) 71.00 cm

2. If the side of a square is 14.00 cm, the area of the square =
D C

A B

(i) 196.00 sgq.cm (ii) 170.00 sgq.cm (iii) 213.00 sq.cm (iv) 221.00 sg.cm (v) 189.00 sq.cm

3. If the area of a square is 196.00 sq.cm, the perimeter of the square =
D C

A B

(i) 59.00 cm (ii) 61.00 cm (iii) 56.00 cm (iv) 53.00cm (v) 51.00 cm



4. If the length of the diagonal of a square is 26.87 cm, the perimeter of the square =
D C

A B

(i) 76.00 cm (ii) 73.00cm (iii) 71.00cm (iv) 81.00cm (v) 79.00 cm

5. If the length of the diagonal of a square is 18.38 cm, the area of the square =
D C

A B

(i) 156.00 sg.cm (ii) 142.00 sq.cm (iii) 173.00 sq.cm (iv) 193.00 sg.cm (v) 169.00 sq.cm

6. If the length and breadth of a rectangle are 16.00 cm and 14.00 cm respectively, the perimeter of the rectangle =
D C

A B

(i) 65.00 cm (ii) 60.00 cm (iii)) 63.00 cm (iv) 55.00cm (v) 57.00 cm

7. If the length and breadth of a rectangle are 15.00 cm and 12.00 cm respectively, the area of the rectangle =
D C

A B

(i) 207.00 sg.cm (ii) 192.00 sg.cm (iii) 167.00 sq.cm (iv) 154.00 sq.cm (v) 180.00 sg.cm



If the length and perimeter of a rectangle are 19.00 cm and 60.00 cm respectively, the area of the rectangle =

8.
D C
A B
(i) 209.00 sg.cm (ii) 191.00 sq.cm (iii) 222.00 sq.cm (iv) 211.00 sg.cm (v) 202.00 sqg.cm
9. If the length and area of a rectangle are 19.00 cm and 266.00 sq.cm respectively, the perimeter of the rectangle =
(B C
A B

(i) 66.00cm (ii) 61.00 cm (iii) 63.00cm (iv) 69.00cm (v) 71.00 cm

10 If the length and diagonal of a rectangle are 17.00 cm and 22.67 cm respectively, the perimeter of the rectangle

D C

A B
(i) 64.00cm (ii) 69.00 cm (iii) 61.00 cm (iv) 59.00 cm (v) 67.00 cm

11. If the breadth and perimeter of a rectangle are 11.00 cm and 52.00 cm respectively, the area of the rectangle =

D C

A B
(i) 163.00 sg.cm (ii) 180.00 sq.cm (iii) 139.00 sq.cm (iv) 165.00 sg.cm (v) 187.00 sq.cm

If the breadth and area of a rectangle are 8.00 cm and 152.00 sq.cm respectively, the perimeter of the rectangle

D C

A B
(i) 59.00 cm (ii) 57.00 cm (iii) 49.00 cm (iv) 54.00cm (v) 51.00 cm



In quadrilateral PQRS, if diagonal QS = 12.00 cm, perpendiculars from the vertices P and R to the diagonal QS are
15.00 cm and 8.59 cm respectively, then area of the quadrilateral =

S R

13.

P Q
(i) 135.54 sq.cm (ii) 116.54 sq.cm (iii) 154.54 sq.cm (iv) 141.54 sq.cm (v) 149.54 sg.cm

In trapezium ABCD, if distance between the parallel sides is 12.98 cm and lengths of the parallel sides AB =
20.00 cm and CD = 10.00 cm, then area of the trapezium =
D C

14.

A B

(i) 208.70 sg.cm (ii) 192.70 sq.cm (iii) 169.70 sq.cm (iv) 216.70 sgq.cm (v) 194.70 sq.cm

In parallelogram PQRS, if base PQ = 13.00 cm and the corresponding height is 16.59 cm, then area of the
" parallelogram =
S R

P Q
(i) 202.67 sq.cm (ii) 228.67 sgq.cm (iii) 215.67 sq.cm (iv) 231.67 sq.cm (v) 200.67 sg.cm

16. In rhombus PQRS, if diagonals QS = 11.00 cm and PR = 23.56 cm, the area of the rhombus =
5 R

P Q
(i) 131.58 sgq.cm (ii) 111.58 sq.cm (iii) 152.58 sq.cm (iv) 125.58 sgq.cm (v) 129.58 sq.cm



17 In quadrilateral PQRS, if diagonal QS = 17.00 cm, perpendiculars from the vertices P and R to the diagonal QS are
" 10.32 cm and 7.62 cm respectively, then height of the vertex R to the diagonal QS is
5

(i) 9.62 cm (ii) 8.62 cm (iii) 6.62cm (iv) 5.62cm (v) 7.62cm

In quadrilateral PQRS, if diagonal QS = 15.00 cm, height of vertex P to the diagonal QS is 13.53 cm and area is
" 161.25 sg.cm, then height of the vertex R to the diagonal QS is

(i) 9.97 cm (ii) 6.97 cm (iii) 8.97 cm (iv) 7.97 cm (v) 5.97 cm

In quadrilateral PQRS, if area is 247.41 sq.cm, height of vertex P to the diagonal QS is 11.35 cm, and height of
" vertex R to the diagonal QS is 16.14 cm, then diagonal QS =

R

(i) 18.00cm (ii) 13.00 cm (iii) 15.00cm (iv) 21.00cm (v) 23.00 cm

20 In trapezium ABCD, if area is 105.49 sq.cm and lengths of the parallel sides are AB = 16.00 cm and CD = 6.00
" cm, then distance between the parallel sides AB and CD =

D C

A B

(i) 11.59 cm (ii) 8.59 cm (iii) 10.59 cm (iv) 9.59cm (v) 7.59cm



21 In trapezium ABCD, if one of the parallel sides AB = 17.00 cm and distance between parallel sides AB and CD is
" 6.15 cm and area is 76.88 sq.cm, then parallel side CD =
D C
ol
A B

(i) 7.00cm (ii) 10.00 cm (iii)) 8.00 cm (iv) 6.00cm (v) 9.00 cm

In parallelogram PQRS, if base PQ = 12.00 cm and area is 221.88 sq.cm, the corresponding height to the base PQ

/

(ii) 15.49 cm (iii) 23.49cm (iv) 21.49cm (v)

22.
is

S

P

(i) 18.49 cm 13.49 cm

In parallelogram PQRS, if distance between the parallel sides PQ and RS is 10.93 cm and area is 109.30 sqg.cm,

" the base of the parallelogram PQ =
S R
P Q
7.00 cm (iii) 5.00cm (iv) 15.00cm (v) 13.00 cm

(i) 10.00 cm (ii)

24. In rhombus PQRS, if one of the diagonals QS = 17.00 cm and area is 118.66 sg.cm, the diagonal PR =
5 R
P Q
(i) 13.96 cm (i) 18.96 cm (iii) 10.96 cm (iv) 8.96 cm (v) 16.96 cm



25. Find the area of the field shown in the figure. All dimensions are in m
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(i) 13012.50 sg.m (ii) 12212.50 sq.m (iii) 9512.50 sq.m (iv) 11112.50sg.m (v) 11712.50 sq.m

26. Find the area of the field shown in the figure. All dimensions are in m
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(i) 12137.50 sg.m (ii) 10937.50 sq.m (iii) 12437.50 sg.m (iv) 10537.50 sq.m (v) 8637.50 sgq.m

27. In the given figure, the triangle inside the square is an isosceles triangle. Find the area of the shaded region

D C

20,00 cm

fE— 20,00 cm ———3p

(i) 183.00sg.cm (ii) 195.00 sgq.cm (iii) 226.00 sq.cm (iv) 203.00 sq.cm (v) 200.00 sg.cm



28. In the given figure, find the area of the shaded region
D C

=—17.00 cm —»

fEe——19.00 cm ———3p

(i) 179.50 sgq.cm (ii) 147.50 sq.cm (iii) 161.50 sq.cm (iv) 136.50 sgq.cm (v) 165.50 sq.cm

29. In the given figure, find the area of the shaded region
D C

11 em
200cm ——

nc ¢
A m m g

(i) 189.50 sgq.cm (ii) 156.50 sq.cm (iii) 181.50 sq.cm (iv) 163.50 sgq.cm (v) 207.50 sq.cm
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